

Work out, alternating in each section between suppressing conveniently brackets or calculating expressions inside of brackets:

$$\frac{2}{5} - \left(\frac{1}{2} - \frac{4}{3} \right) =$$

$$\left(\frac{5}{8} + \frac{1}{6} \right) - \left(\frac{1}{2} - \frac{2}{3} \right) =$$

$$\frac{5}{2} - \left(1 + \frac{1}{3} - \frac{4}{5} \right) =$$

$$\frac{2}{3} + \left(2 + \frac{4}{5} \right) - \left(\frac{1}{3} - \frac{3}{4} \right) =$$

$$1 - \left(\frac{2}{9} - \frac{1}{3} \right) + \frac{3}{4} =$$

$$\frac{1}{2} - \left[\frac{5}{2} - \left(\frac{1}{3} - \frac{4}{5} \right) \right] =$$

$$1 - \left[\left(\frac{2}{7} - \frac{1}{3} \right) + \frac{3}{2} \right] =$$